

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 4, 2025

	_									
Progress Estimate Number 5	Contract ID Prime Contra		17-H05 Paving Co.	Pay Perio Pay Perio		July 16, 2025 August 1, 2025	Original Contract Amount Net Change Order Amount Current Contract Amount	\$1,809,930.9 \$0.0 \$1,809,930.9		
Approval Date								By User		
August 4, 2025			Generate	ed and Appro	ved (and sl	hould be considere	d Draft) at the Project Office Level by	kirchp		
August 4, 2025		ft) at the Resident Engineer Level by	plottk							
August 6, 2025		tral Office Controllers Office Level by	ramses							
Original Completion Date Current Completion Date Actual Completion Date % of Current Contract A								t Complete		
November 1, 2	026	Novem	ber 1, 2026				27.97%			
	Co	ntract Informati	tional Dates				Milestones			
Date Description	Original Co	mpletion Date	Current Con	npletion Date	е	No Milest	ones Exist for Contract			
Acceptance Date										
Awarded Date	February 5,	2025	February 5, 2	2025						
Letting Date	etting Date January 17, 2025 January 17, 2025									
Notice to Proceed Date	March 10, 2	025	March 10, 20	25						
Work Began Date										

Contract Total Pay For Estimate No. 5									
		This Estimate	Previous	To Date					
250117-H05									
	Total Posted Items Pay	\$384,043.00	\$122,220.15	\$506,263.15					
	Gross Item Adjustments	(\$137,624.75)	\$137,552.60	(\$72.15)					
	Incentive	\$0.00	\$0.00	\$0.00					
	Disincentive	\$0.00	\$0.00	\$0.00					
	Liquidated Damage	\$0.00	\$0.00	\$0.00					
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00					
	·		\$259,772.75	\$506,191.00					
Contract Total Pa	avable This Estimate:	\$246 418 25							

Items Paid This Estimate Pe	eriod
-----------------------------	-------

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount		
J9S3813	0020	2022010	REMOVAL OF IMPROVEMENTS	LS	\$2,000.000	1	\$2,000.00		
	0030	2159910	MISC.SHAPING SLOPES III - MODIFIED MATERIAL REQUIREMENT	100F	\$1,500.000	6	\$9,000.00		
	0160	6181000	MOBILIZATION	\$69,278.00					
	0180	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	LF	\$1.850	400	\$740.00		
	0290	6061060	MGS GUARDRAIL	LF	\$30.000	200	\$6,000.00		
	0300	6061081	MGS BRIDGE APPROACH TRANSITION (THRIE-BEAM BRIDGE)	EA	\$4,800.000	4	\$19,200.00		
	0310	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	\$15,200.00					
	0330	2164500	REMOVAL OF EXISTING EXPANSION JOINT & ADJACENT CONCRETE	LF	\$675.000	14.500	\$9,787.50		
	0340	2169903	MISC.REMOVAL OF EXISTING GUARDRAIL	LF	\$20.000	397	\$7,940.00		
	0350	7034214	CLASS B-2 CONCRETE	CUYD	\$18,000.000	1.800	\$32,400.00		
	0360	7040104	HALF-SOLE REPAIR	SQFT	\$105.000	109	\$11,445.00		
	0390	7101000	REINFORCING STEEL (EPOXY COATED)	LB	\$19.500	250	\$4,875.00		
	0410	7134000	BRIDGE GUARDRAIL (THRIE BEAM)	LF	\$460.000	397	\$182,620.00		
	0420	7172001	STRIP SEAL EXPANSION JOINT SYSTEM	LF	\$935.000	14.500	\$13,557.50		
Project J9S3813 - Total									
Overall - Tota	al						\$384,043.00		

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Revision 5/29/2025 Page 1 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 4, 2025

Pro Estimat	gress e Num 5	Contract ID ber Prime Contractor	250117-H05 Apex Paving Co		eriod Start eriod End	July 16, 2025 August 1, 2025	Net Change	ntract Amoui Order Amou ntract Amour	ınt	\$1,809,930.96 \$0.00 \$1,809,930.96
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9S3813	0030	MISC.	Material		generated M Adjustment overridding	nent offsets the origin Material Payment Esti (0001) due to user ki Payment Estimate Ex Payment Estimate.	mate Item rchp1	6	\$1,500.00	\$9,000.00
	0030	MISC.	Material					-6	\$1,500.00	(\$9,000.00)
	0120	CONSTRUCTION SIGNS	Material		generated M Adjustment overridding	nent offsets the origin Material Payment Esti (0002) due to user ki Payment Estimate Ex Payment Estimate.	mate Item rchp1	266	\$8.50	\$2,261.00
	0120	CONSTRUCTION SIGNS	Material					-266	\$8.50	(\$2,261.00)
	0140	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	Material		generated M Adjustment overridding	ment offsets the origin Material Payment Esti (0003) due to user ki Payment Estimate Ex Payment Estimate.	mate Item rchp1	2	\$3,200.00	\$6,400.00
	0140	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	Material					-2	\$3,200.00	(\$6,400.00)
	0150	WORK ZONE TRAFFIC SIGNAL SYSTEM	Material		generated N Adjustment overridding	nent offsets the origin Material Payment Esti (0004) due to user ki Payment Estimate Ex Payment Estimate.	mate Item rchp1	1	\$11,600.00	\$11,600.00
	0150	WORK ZONE TRAFFIC SIGNAL SYSTEM	Material					-1	\$11,600.00	(\$11,600.00)
	0180	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	Material		generated M Adjustment overridding	nent offsets the origin Material Payment Esti (0006) due to user ki Payment Estimate Ex Payment Estimate.	mate Item rchp1	1,000	\$1.85	\$1,850.00
	0180	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	Material					-1,000	\$1.85	(\$1,850.00)
	0180	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	Overrun					-39	\$1.85	(\$72.15)
	0190	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	Material		generated M Adjustment overridding	nent offsets the origin Material Payment Esti (0007) due to user ki Payment Estimate Ex ent Payment Estimate	mate Item rchp1 cception 10	2,000	\$1.85	\$3,700.00
	0190	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	Material					-2,000	\$1.85	(\$3,700.00)
	0200	TEMPORARY REMOVABLE MARKING TAPE, 24 IN., WHITE	Material		generated N Adjustment overridding	ment offsets the origin Material Payment Esti (0008) due to user ki Payment Estimate Ex ent Payment Estimate	mate Item rchp1 cception 11	24	\$11.10	\$266.40
	0200	TEMPORARY REMOVABLE MARKING TAPE, 24 IN., WHITE	Material					-24	\$11.10	(\$266.40)
	0290	MGS GUARDRAIL	Construction Stockpile		Payment Es Stockpile Tr	stimate Item Adjustme ansaction	ent generated			(\$2,590.00)
	0290	MGS GUARDRAIL	Material		generated N	ment offsets the origin Material Payment Esti (0010) due to user kii	mate Item	200	\$30.00	\$6,000.00

Revision 5/29/2025 Page 2 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 4, 2025

Estimate	gress e Numl 5	Contract ID per Prime Contractor	250117-H05 Apex Paving Co		eriod Start eriod End	July 16, 2025 August 1, 2025	Net Change	ntract Amou Order Amou ntract Amour	ınt	\$1,809,930.96 \$0.00 \$1,809,930.96
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9S3813						Payment Estimate E Payment Estimate.	xception 2 on			
	0290	MGS GUARDRAIL	Material					-200	\$30.00	(\$6,000.00)
	0300	MGS BRIDGE APPROACH TRANSITION (THRIE-BEAM BRIDGE)	Construction Stockpile		Payment Es Stockpile Tr	stimate Item Adjustm ansaction	ent generated			(\$10,447.60)
	0300	MGS BRIDGE APPROACH TRANSITION (THRIE-BEAM BRIDGE)	Material		generated N Adjustment overridding	nent offsets the original Material Payment Est (0012) due to user k Payment Estimate E Payment Estimate.	imate Item irchp1	4	\$4,800.00	\$19,200.00
	0300	MGS BRIDGE APPROACH TRANSITION (THRIE-BEAM BRIDGE)	Material					-4	\$4,800.00	(\$19,200.00)
	0310	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		Payment Es Stockpile Tr	stimate Item Adjustm ansaction	ent generated			(\$7,400.00)
	0310	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material		generated N Adjustment overridding	nent offsets the original Material Payment Est (0014) due to user k Payment Estimate E Payment Estimate.	imate Item irchp1	4	\$3,800.00	\$15,200.00
	0310	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material					-4	\$3,800.00	(\$15,200.00)
	0380	CLEANING AND EPOXY COATING	Material		generated N Adjustment overridding	nent offsets the original Material Payment Est (0015) due to user k Payment Estimate E ent Payment Estimate	imate Item irchp1 xception 12	1,145	\$12.00	\$13,740.00
	0380	CLEANING AND EPOXY COATING	Material					-1,145	\$12.00	(\$13,740.00)
	0410	BRIDGE GUARDRAIL (THRIE BEAM)	Construction Stockpile		Payment Es Stockpile Tr	stimate Item Adjustm ransaction	ent generated			(\$117,115.00)
Total										(\$137,624.75)

Revision 5/29/2025 Page 3 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informa	ation				
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work				
J9S3813	FAS S705(63)	Coldmill, resurface and bridge rehabilitation	M	SCOTT	from Route A to I-55						
Totals b	Totals by Job Numbers										
J9S3813		d Item Pay Item Adjustm		Item Pay	This Estimate \$384,043.00 (\$137,624.75) \$246,418.25	Previous \$122,220.15 \$137,552.60 \$259,772.75	To Date \$506,263.15 (\$72.15) \$506,191.00				
	Liquid	tive centive lated Damages Contract Adju			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00				

Revision 5/29/2025 Page 4 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9S3813, Item 2159910, Project Item Line Number 0030, Material Set 2159910, Material 3304AGBS - Aggregate Base JSP, Acceptance Action Generic 3304AGBS is insufficient.	Materials have not been put into AWP	kirchp1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3813, Item 6061060, Project Item Line Number 0290, Material Set 606106096, Material 1065DE - Delineators, Acceptance Action Generic 1065DE is insufficient.	Materials have not been put into AWP	kirchp1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3813, Item 6061060, Project Item Line Number 0290, Material Set 606106096, Material 1040GRSRCAT2 - Steel Beam for Class A Type 2 Guard Rail, Acceptance Action Generic 1040GRSRCAT2 is insufficient.	Materials have not been put into AWP	kirchp1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3813, Item 6061081, Project Item Line Number 0300, Material Set 606108196, Material 1040GRAB - Bridge Anchor Section, Acceptance Action Generic 1040GRAB is insufficient.	Materials have not been put into AWP	kirchp1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3813, Item 6063014, Project Item Line Number 0310, Material Set 606301496, Material 1040GRCWA - Crashworthy End Terminal Type A, Acceptance Action Generic 1040GRCWA is insufficient.	Materials have not been put into AWP	kirchp1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3813, Item 6161005, Project Item Line Number 0120, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Materials have not been put into AWP	kirchp1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3813, Item 6161098A, Project Item Line Number 0140, Material Set 6161098A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Materials have not been put into AWP	kirchp1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3813, Item 6162000A, Project Item Line Number 0150, Material Set 6162000A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Materials have not been put into AWP	kirchp1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3813, Item 6205301B, Project Item Line Number 0180, Material Set 6205301B96, Material 1048PMRPMTWH - Marking Tape Removable White, Acceptance Action Generic 1048PMRPMTWH is insufficient.	Materials have not been put into AWP	kirchp1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3813, Item 6205303B, Project Item Line Number 0190, Material Set 6205303B96, Material 1048PMRPMTYL - Marking Tape Removable Yellow, Acceptance Action Generic 1048PMRPMTYL is insufficient.	Materials have not been put into AWP	kirchp1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3813, Item 6205309, Project Item Line Number 0200, Material Set 620530996, Material 1048PMRPMTWH - Marking Tape Removable White, Acceptance Action Generic 1048PMRPMTWH is insufficient.	Materials have not been put into AWP	kirchp1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3813, Item 7040113, Project Item Line Number 0380, Material Set 704011396, Material 1059PCECBP - Protective Coat Bents and Piers - Epoxy, Acceptance Action Generic 1059PCECBP is insufficient.	Materials have not been put into AWP	kirchp1	Overridden
Estimate Exception Type: Item Overrun: Contract 250117-H05, Contract Project J9S3813, Project Item Line Number 0180, Item 6205301B, Minor Item.	Overrun on white temp marking tape	kirchp1	Acknowledged

Revision 5/29/2025 Page 5 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
250117-	J9S3813	0001	0010	1081000	SIGNET DBE REPORTING	1.00	0.00	1.00	LS	1.00	\$1,000.00	\$1,000.00
H05		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$2,000.00	\$2,000.00
		0001	0030	2159910	MISC.SHAPING SLOPES III - MODIFIED MATERIAL REQUIREMENT	6.00	0.00	6.00	100F	6.00	\$1,500.00	\$9,000.00
		0001	0040	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	2,098.10	0.00	2,098.10	TONS	0.00	\$35.00	\$0.00
		0001	0050	3105002	GRAVEL (A) OR CRUSHED STONE (B)	32.00	0.00	32.00	TONS	0.00	\$35.00	\$0.00
		0001	0060	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	12,346.70	0.00	12,346.70	TONS	0.00	\$79.10	\$0.00
		0001	0070	4071005	TACK COAT	9,547.00	0.00	9,547.00	GAL	0.00	\$3.15	\$0.00
		0001	0800	4091048	EMULSIFIED ASPHALT, SEAL COAT	196.00	0.00	196.00	GAL	0.00	\$2.99	\$0.00
		0001	0090	4094011	SEAL COAT AGGREGATE, GRADE B1	652.00	0.00	652.00	SQYD	0.00	\$2.00	\$0.00
		0001	0100	6122040	WORK ZONE CRASH CUSHION (NARROW)	2.00	0.00	2.00	EA	0.00	\$6,750.00	\$0.00
		0001	0110	6122041	WORK ZONE CRASH CUSHION (NARROW) (RELOCATION)	2.00	0.00	2.00	EA	0.00	\$1,725.00	\$0.00
		0001	0120	6161005	CONSTRUCTION SIGNS	1,206.00	0.00	1,206.00	SQFT	266.00	\$8.50	\$2,261.00
		0001	0130	6161025	CHANNELIZER (TRIM-LINE)	50.00	0.00	50.00	EA	0.00	\$18.00	\$0.00
		0001	0140	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	2.00	0.00	2.00	EA	2.00	\$3,200.00	\$6,400.00
		0001	0150	6162000A	WORK ZONE TRAFFIC SIGNAL SYSTEM	1.00	0.00	1.00	EA	1.00	\$11,600.00	\$11,600.00
		0001	0152	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	500.00	0.00	500.00	LF	0.00	\$45.35	\$0.00
		0001	0158	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	500.00	0.00	500.00	LF	0.00	\$11.90	\$0.00
		0001	0160	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.75	\$138,556.00	\$103,917.00
		0001	0170	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	12.00	0.00	12.00	LF	0.00	\$25.00	\$0.00
		0001	0180	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	961.00	0.00	961.00	LF	1,000.00	\$1.85	\$1,850.00
		0001	0190	6205303B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	2,000.00	0.00	2,000.00	LF	2,000.00	\$1.85	\$3,700.00
		0001	0200	6205309	TEMPORARY REMOVABLE MARKING TAPE, 24 IN., WHITE	24.00	0.00	24.00	LF	24.00	\$11.10	\$266.40
		0001	0210	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	64,923.00	0.00	64,923.00	LF	0.00	\$0.15	\$0.00
		0001	0220	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	45,239.00	0.00	45,239.00	LF	0.00	\$0.15	\$0.00
		0001	0230	6207001	PAVEMENT MARKING REMOVAL	1,333.00	0.00	1,333.00	LF	1,333.00	\$1.75	\$2,332.75
		0001	0240	6209901	MISC.TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	0.00	\$0.00	\$0.00
		0001	0250	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	14,528.00	0.00	14,528.00	SQYD	0.00	\$3.25	\$0.00
		0001	0260	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	3,007.00	0.00	3,007.00	SQYD	0.00	\$5.65	\$0.00
		0001	0270	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	67.00	0.00	67.00	STA	0.00	\$15.20	\$0.00
		0001	0280	6269909	MISC.MODIFIED SHOULDER RUMBLE STRIP (6 IN.)	511.30	0.00	511.30	STA	0.00	\$5.50	\$0.00
		0010	0290	6061060	MGS GUARDRAIL	200.00	0.00	200.00	LF	200.00	\$30.00	\$6,000.00
		0010	0300	6061081	MGS BRIDGE APPROACH TRANSITION (THRIE-BEAM BRIDGE)	4.00	0.00	4.00	EA	4.00	\$4,800.00	\$19,200.00
		0010	0310	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$3,800.00	\$15,200.00
		0070	0320	2161500	REMOVAL OF SEAL COAT OR POLYMER WEARING SURFACE	5,740.00	0.00	5,740.00	SQFT	5,740.00	\$1.90	\$10,906.00
		0070	0330	2164500	REMOVAL OF EXISTING EXPANSION JOINT & ADJACENT CONCRETE	29.00	0.00	29.00	LF	29.00	\$675.00	\$19,575.00
		0070	0340	2169903	MISC.REMOVAL OF EXISTING GUARDRAIL	397.00	0.00	397.00	LF	397.00	\$20.00	\$7,940.00
		0070	0350	7034214	CLASS B-2 CONCRETE	1.80	0.00	1.80	CUYD	1.80	\$18,000.00	\$32,400.00
		0070	0360	7040104	HALF-SOLE REPAIR	500.00	0.00	500.00	SQFT	213.00	\$105.00	\$22,365.00
		0070	0370	7040106	FULL DEPTH REPAIR	100.00	0.00	100.00	SQFT	0.00	\$135.00	\$0.00
		0070	0380	7040113	CLEANING AND EPOXY COATING	1,145.00	0.00	1,145.00	SQFT	1,145.00	\$12.00	\$13,740.00
		0070	0390	7101000	REINFORCING STEEL (EPOXY COATED)	250.00	0.00	250.00	LB	250.00	\$19.50	\$4,875.00
		0070	0400	7110200	PROTECTIVE COATING - CONCRETE BENTS AND PIERS (EPOXY)	1.00	0.00	1.00	LS	0.00	\$3,000.00	\$0.00
		0070	0410	7134000	BRIDGE GUARDRAIL (THRIE BEAM)	397.00	0.00	397.00	LF	397.00	\$460.00	\$182,620.00
		0070	0420	7172001	STRIP SEAL EXPANSION JOINT SYSTEM	29.00	0.00	29.00	LF	29.00	\$935.00	\$27,115.00
	Project J	9S3813 - <u>T</u> c	otal Value	Posted to D	late as of Report Generated Date							\$506,263.15
50117-H	05 Overal	I - Total Va	lue Poste	ed to Date as	of Report Generated Date							\$506,263.15

Revision 5/29/2025 Page 6 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9S3813

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020	2022010	REMOVAL OF IMPROVEMENTS	7/24/25	8/4/25	1	1.00	LS	Route M, Scott County, Bridge A08442	6.375		6.612		Field Verified
0030	2159910	MISC. SHAPING SLOPES	7/24/25	8/4/25	1	6.00	100F	Route M, Scott County, Bridge A08442	6.375		6.612		Field Verified
0160	6181000	MOBILIZATION	7/26/25	8/4/25	1	0.50	LS	Route M, Scott County					2nd and 3rd mobilization payments
0180	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN.,	7/17/25	7/24/25	1	400.00	LF	Route M bridge	6.375		6.612		temporary striping for staging
0290	6061060	MGS GUARDRAIL	7/24/25	8/4/25	1	200.00	LF	Route M, Scott County, Bridge A08442	6.375		6.612		Field Verified
0300	6061081	MGS BR APP TRANSITION (THRIE-BEAM BRIDGE	7/24/25	8/4/25	1	4.00	EA	Route M, Scott County, Bridge A08442	6.375		6.612		Field Verified
0310	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	7/24/25	8/4/25	1	4.00	EA	Route M, Scott County, Bridge A08442	6.375		6.612		Field Verified
0330	2164500	REMOVAL OF EXISTING EXPANSION JOINT & ADJACENT CONCRETE	8/1/25	8/4/25	1	14.50	LF	Route M, Scott County, Bridge A08442	6.375	RT	6.612	RT	Field Verified
0340	2169903	MISC. REMOVALS	8/1/25	8/4/25	1	397.00	LF	Route M, Scott County, Bridge A08442	6.375	LT/RT	6.612	LT/RT	Field Verified
0350	7034214	CLASS B-2 CONCRETE	8/1/25	8/4/25	1	0.90	CUYD	Route M, Scott County, Bridge A08442	6.375	RT	6.612	RT	W=30" L=174" D=8" 30"*174"*8"/46,656(SI/SY)=0.9SY
				8/4/25	2	0.90	CUYD	Route M, Scott County, Bridge A08442	6.375	LT	6.612	LT	W=30" L=174" D=8" 30"*174"*8"/46,656(SI/SY)=0.9SY
0360	7040104	HALF-SOLE REPAIR	8/1/25	8/4/25	1	109.00	SQFT	Route M, Scott County, Bridge A08442	6.375	RT	6.612	RT	Total from field measurements All measurements are in inches unless noted otherwise 1) 41*29/144-8.26 SF 2) (37*39+17*11.5)/144-11.38 SF 3) 35.1*61/144-3.39 SF 4) (187*20*25)/144-4.35 SF 5) 24*18/144-3 SF 6) 9.5*41/144-2.7 SF 7) 15*21.5/144-2.24 SF 8) 20*19/144-1.81 SF 9) 40.5*37/144-1.01 SF 9) 40.5*37/144-1.01 SF 10) 31*37/144-1.01 SF 10) 31*37/144-1.01 SF 10) 31*37/34-1.01 SF 10) 31
0390	7101000	REINFORCING STEEL (EPOXY COATED)	8/1/25	8/4/25	1	250.00	LB	Route M, Scott County, Bridge A08442	6.375		6.612		Field Verified
0410	7134000	BRIDGE GUARDRAIL (THRIE BEAM)	8/1/25	8/4/25	1	397.00	LF	Route M, Scott County, Bridge A08442	6.375	LT/RT	6.612	LT/RT	Field Verified
0420	7172001	STRIP SEAL EXPANSION JOINT SYSTEM	8/1/25	8/4/25	1	14.50	LF	Route M, Scott County, Bridge A08442	6.375		6.612		Second expansion joint system

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 7 of 12



Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks						
J9S3813	0030	MISC. SHAPING	Material	Type	5	Aug 4,	SYSTEM	(\$9,000.00)							
1933613	0030	SLOPES	Material		5	2025	STSTEIN	(\$9,000.00)							
					5	Aug 4, 2025	SYSTEM	\$9,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user kirchp1 overridding Payment Estimate Exception 1 on the current Payment Estimate.						
				- Total				\$0.00							
			Material - To	tal				\$0.00							
	0030							\$0.00							
	0120	CONSTRUCTION SIGNS	Material		3	Jun 30, 2025	SYSTEM	(\$2,261.00)							
					3	Jun 30, 2025	SYSTEM	\$2,261.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user rogerl2 overridding Payment Estimate Exception 1 on the current Payment Estimate.						
					4	Jul 16, 2025	SYSTEM	(\$2,261.00)							
					4	Jul 16, 2025	SYSTEM	\$2,261.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user leez1 overridding Payment Estimate Exception 1 on the current Payment Estimate.						
					5	Aug 4, 2025	SYSTEM	(\$2,261.00)							
					5	Aug 4, 2025	SYSTEM	\$2,261.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user kirchp1 overridding Payment Estimate Exception 6 on the current Payment Estimate.						
				- Total				\$0.00							
			Material - To	tal				\$0.00							
	0120 -	Total						\$0.00							
	0140	CHANGEABLE MESSAGE SIGN WITHOUT	Material		3	Jun 30, 2025	SYSTEM	(\$6,400.00)							
		COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED			3	Jun 30, 2025	SYSTEM	\$6,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user rogerl2 overridding Payment Estimate Exception 2 on the current Payment Estimate.						
										4	Jul 16, 2025	SYSTEM	(\$6,400.00)		
											4	Jul 16, 2025	SYSTEM	\$6,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user leez1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
															5
					5	Aug 4, 2025	SYSTEM	\$6,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user kirchp1 overridding Payment Estimate Exception 7 on the current Payment Estimate.						
				- Total				\$0.00							
			Material - To	tal				\$0.00							
	0140 -							\$0.00							
	0150	WORK ZONE TRAFFIC SIGNAL SYSTEM	Material		3	Jun 30, 2025	SYSTEM	(\$11,600.00)							
		OTOTEW			3	Jun 30, 2025	SYSTEM	\$11,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user rogerl2 overridding Payment Estimate Exception 3 on the current Payment Estimate.						
					4	Jul 16, 2025	SYSTEM	(\$11,600.00)							
					4	Jul 16, 2025	SYSTEM	\$11,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user leez1 overridding Payment Estimate Exception 3 on the current Payment Estimate.						
					5	Aug 4, 2025	SYSTEM	(\$11,600.00)							
				Ę	5	Aug 4, 2025	SYSTEM	\$11,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user kirchp1 overridding Payment Estimate Exception 8 on the current Payment Estimate.						
				- Total				\$0.00							
			Material - To	tal				\$0.00							
	0150	Total						\$0.00							
	0180	TEMPORARY	Material		3	Jun 30,	SYSTEM	(\$1,110.00)							



			1		l				
Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
			.,,,,,	Туре		Date			
J9S3813	0180	REMOVABLE	Material			2025			
		MARKING TAPE 4 IN.,			3	Jun 30, 2025	SYSTEM	\$1,110.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user rogerl2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					4	Jul 16, 2025	SYSTEM	(\$1,110.00)	
					4	Jul 16, 2025	SYSTEM	\$1,110.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user leez1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					5	Aug 4, 2025	SYSTEM	(\$1,850.00)	
					5	Aug 4, 2025	SYSTEM	\$1,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user kirchp1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
			Overrun	Overrun	5	Aug 4, 2025	SYSTEM	(\$72.15)	
				Overrun - T	otal			(\$72.15)	
			Overrun - To					(\$72.15)	
	0180 -	· Total						(\$72.15)	
	0190	TEMPORARY REMOVABLE	Material		3	Jun 30, 2025	SYSTEM	(\$3,700.00)	
		MARKING TAPE			3	Jun 30, 2025	SYSTEM	\$3,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user rogerl2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					4	Jul 16, 2025	SYSTEM	(\$3,700.00)	
					4	Jul 16, 2025	SYSTEM	\$3,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user leez1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					5	Aug 4, 2025	SYSTEM	(\$3,700.00)	
					5	Aug 4, 2025	SYSTEM	\$3,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user kirchp1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0190 -	Total						\$0.00	
	0200	TEMPORARY REMOVABLE MARKING TAPE,	Material		3	Jun 30, 2025	SYSTEM	(\$266.40)	
		24 IN.			3	Jun 30, 2025	SYSTEM	\$266.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user rogerl2 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					4	Jul 16, 2025	SYSTEM	(\$266.40)	
					4	Jul 16, 2025	SYSTEM	\$266.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user leez1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					5	Aug 4, 2025	SYSTEM	(\$266.40)	
					5	Aug 4, 2025	SYSTEM	\$266.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user kirchp1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
				- Total			\$0.00		
			Material - To	tal				\$0.00	
	0200 -	Total						\$0.00	
	0290	MGS GUARDRAIL	Construction Stockpile		5	Aug 4, 2025	SYSTEM	(\$2,590.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				(\$2,590.00)		
			Construction	Stockpile -	Γotal			(\$2,590.00)	
			Construction		1	Apr 17,	SYSTEM	\$2,590.00	Payment Estimate Item Adjustment generated Stockpile Transaction



oject	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
,		·	Туре	Adjustment Type	Number	Date	Ву		
9S3813	0290	MGS GUARDRAIL	Stockpile	71		2025			
			STMI	- Total				\$2,590.00	
			Construction Stockpile STMI - Total					\$2,590.00	
			Material		5	Aug 4,	SYSTEM	(\$6,000.00)	
					5	2025 Aug 4, 2025	SYSTEM	\$6,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user kirchp1 overridding Payment
						2020			Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tot	Total				\$0.00	
	0290 -		0		-	A 4	OVOTENA	\$0.00	Decree of Estimate Here Adjustes of consent of Charles in Townships
	0300	MGS BR APP TRANSITION (THRIE-BEAM BRIDGE	Construction Stockpile	Tatal	5	Aug 4, 2025	SYSTEM	(\$10,447.60)	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction	- Total	Fotol			(\$10,447.60)	
			Construction Construction	Stockpile -	1	Apr 17,	SYSTEM	(\$10,447.60) \$10,447.60	Payment Estimate Item Adjustment generated Stockpile Transaction
			Stockpile STMI	- Total	'	2025	STSTEW	\$10,447.60	rayment Estimate nem Aujustinent generateu Stockpile Transaction
			Construction	- I otal Stockpile STMI - Total				\$10,447.60	
			Material	Отоскрпе о	5	Aug 4,	SYSTEM	(\$19,200.00)	
			Waterial		5	2025 Aug 4,	SYSTEM	\$19,200.00	This adjustment offsets the original system-generated Material Payment
						2025			Estimate Item Adjustment (0012) due to user kirchp1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
			- Total				\$0.00		
		Material - Total						\$0.00	
	0300 -		Construction		5	A.u. 4	SYSTEM	\$0.00	Daymant Fatimata Itana Adiyatmant ganayatad Chalonila Transaction
	0310	TYPE A CASHWORTHY END TERMINAL (MASH)	Stockpile	Total	5	Aug 4, 2025	SYSTEM	(\$7,400.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total Construction Stockpile - Total					(\$7,400.00)	
			Construction						Payment Estimate Item Adjustment generated Stockpile Transaction
			Stockpile STMI		·	2025	0.0.2	\$7,400.00	- ajmon Estimate nom rajacanom gonorates scoupis maneasien
				- Total					
			Construction	Stockpile S				\$7,400.00	
			Material		5	Aug 4, 2025	SYSTEM	(\$15,200.00)	
					5	Aug 4, 2025	SYSTEM	\$15,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user kirchp1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	0310 -							\$0.00	
	0380	CLEANING AND EPOXY COATING	Material		4	Jul 16, 2025	SYSTEM	(\$13,740.00)	
					4	Jul 16, 2025	SYSTEM	\$13,740.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user leez1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					5	Aug 4, 2025	SYSTEM	(\$13,740.00)	
					5	Aug 4, 2025	SYSTEM	\$13,740.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user kirchp1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
			- Total					\$0.00	
			Material - Total					\$0.00	
	0380 -	Total						\$0.00	
	0410	BRIDGE GUARDRAIL (THRIE BEAM)	Construction Stockpile		5	Aug 4, 2025	SYSTEM	(\$117,115.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$117,115.00)	





Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9S3813	0410	BRIDGE GUARDRAIL (THRIE BEAM)	Construction Stockpile - Total					(\$117,115.00)	
			Construction Stockpile STMI		4	Jul 16, 2025	SYSTEM	\$117,115.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$117,115.00	
			Construction Stockpile STMI - Total					\$117,115.00	
	0410 - Total							\$0.00	
	0420	STRIP SEAL EXPANSION JOINT SYSTEM	Material		3	Jun 30, 2025	SYSTEM	(\$13,557.50)	
					3	Jun 30, 2025	SYSTEM	\$13,557.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user rogerl2 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				- Total					
			Material - Total					\$0.00	
	0420 -	Total						\$0.00	
J9S3813 - Total									
Overall - Total									

MoDOT

Contract Adjustments for Contract - 250117-H05

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 12 of 12